e
o o
N w

T TTT]TTTT]TT ILM'IIIIIHYIIIIIIIIYIIIIIIIVIIIIIII|Y|IIIIIWIIIIIII|Y|.IIIIIH1IIIIIHY| IIIIIWI IIIIIHYI IIIIIWI IIIIIHYI IIIIII|Y|

<
=

2do)/d(m_1 + m_2) [1/GeV]
5 .
N o

-3
o 10

0

Ratio to CMS
[N

0.5

T

7000 GeV pp

Filtered dijet mass (anti-k_(0.7), 2600<p_<800, |y|<2.5)

m CMS
Pythia 6.425 ambtl
----------- Pythia 6.425 z1
——— Pythia 6.425 z2

Jets

Rivet 3.1.10, = 300k events

IJJI|IIII|\I||III|HJ||IIII|\I|IIIII[[JI IIIIHII | IIIIllll | IIIIHII | IIIIllll | IIIIHII | IIIII\II LU

SR |
L LI
mcplots.cern.ch [arXiv:1306.3436]

N

Ll lertalin |Wm|lllllm||||||m|

—0.5

200
(m_ 1+m_2)/2[GeV]



	Contents
	Page 1


